BALEE 2.3(X)VIASRT1—ILEZRE ROE

S NE3000M
FAEU-8(152 1) =4 ALEU-9 (122 17) Cecial
1| 8:15|UNEBI - —HNSRE  [UNEBI 1] 8:15[UNEBI A - UA UNEBT
2| 8:35|755% - BEER 7R 2| 8:30/UNEBI B - F5F UNEBT
3| 8:55[/"% - =HMEE (=0 3| 8:45[/°% - UNEBI A |/"%
4] 9:15[UNEBI - ERER SR 4] 9:00|UNEBT B - UA Dk}
5| 9:35|UNEBI SVAY S UNEBT bl 9:15[755% - F5 5
6] 9:55|=#NEkMH - BRERM Sk 6] 9:30)75% - A RS
7| 10:15|UNEBI - —HNSRE  [UNEBI 7| 9:45|EF - UNEBI A [UNEBI
8] 10:35[7%5% - BRER |7E 8| 10:00[7%& - UNEBI B [UNEBI
9] 10:55[7%& - —HERE (=40 9] 10:15[' A - T I
10] T1:T5/UNEBI - ERERM Sk 10] 10:30{U = - F5F A
11] 11:35|UNEBI - & ACS 11] 10:45]UNEBT A - UA UNEBT
12] 11:55|=FkH - BRER =0 12] 11:00]UNEBI B - F5F I
13] 11:15]755% - UNEBI A |/"%
14] 11:30/UNEBI B - UA A
15] 11:45 -
VAY&—hy7U-TkE GARYyH—) 105/—7 SEA00H EETF—LICHERS
U-T  FRIRASERAD =4 U-T FRRAEREL =¥
1 9:00{J7 - UNEBI HE 1| 9:00{=ikERF - =HERE  |[HEE
2| 9:40[SHERF — UNEBI HE 2| 9:40|U= - =HERE  |[HEE
3| 10:20) )= - BEER |HE 3| 10:20|=#0%kMEH = UNEBI HE
41 11:00|14xz 201 AEB 41 11:00|34z v HE
ramE  U-11(1591%) =¥ L@ U-T0CTEIERIZ121K) |28
1] 12:20]UNEBI A - B UNEBT 1| 12:20]UNEBI - UA UNEBI
2| 12:40|UNEBI B - A UNEBT 2| 12:40|% 2 A - &HAW N2RA
3] 13:00755 - UNEBT A |75% 3] 13:00)755 — UNEBI AT
4] 13:20|B - UNEBT B |BE#R 4] 13:20(¥ R A - UF U7
b 13:40|755% A A b| 13:40|755 EHA AU
6 14:00|755% - B ACS 6 14:00/UNEBI - XA UNEBT
7| 14:20/UNEBI A - A UNEBT 7| 14:20[755 - A AT S
8] 14:40[755% - UNEBI B [UNEBI 8| 14:40|UNEBI - BAW HAL
9] 15:00|BEx - A U7 9] 15:00{755& - N2RH N2H
10] T5:20[UNEBI A - B UNEBI 10] 15:20{) - BAW A
11] 15:40|UNEBI B - A UNEBT 11] 15:40]UNEBT - A UNEBT
12] 16:00[755% - UNEBI A |A% 12] 15:55|% A - &AW N2ZH
13| 16:20|E1% - UNEBT B |B#& 13| 16:10|755& — UNEBI AES
14] 16:40[75% A A 14] 16:25|% A - A A
15] 16:40]755 EHA HAL




